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1. The OMR Answer Sheet is inside this Test Booklet.
When you are directed, open the top seal of Test

Booklet, take out the Answer Sheet and fill in the
particulars carefully with blue / black ball point pen
only.

2. The test is of 120 minutes duration and consists of
150 objective type questions. Each question carry 2
marks for correct answer. 0.5 marks will be deducted
for each wrong answer.

3. Use Blue / Black Ball Point Pen only for writing
particulars on this page and marking responses in the
Answer Sheet.

4. Make sure that the Test Booklet No. and Series marked
by you on the Answer Sheet is the same as that on this
Booklet.

5. Rough work should be done only in the space provided
in the Test Booklet

6. The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No
whitener/ eraser / Blade is allowed for changing
answers.

7. After opening the Test Booklet, please immediately
ensure that the Test Booklet contains as many number
of pages as written on the top of this page. Also ensure
that no page or question is misprinted, torn or left
blank. If any discrepancy is found in test booklet, show
it to Invigilator and get it replaced with test booklet
of same series.
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GENERAL KNOWLEDGE
Q1 The RiceTec Company of Ql B GASH B T 1900
attempted to patent Basmati rice in the % oyd W graEd] 9gd W U
1900s. AHR T B B YA fbar &7
(A) The United Kingdom (A) TS fhren
(B) Canada (B) &-TST
(C) The United States of America (C) Y& s SN
(D) Australia (D) sifeeferar
Q2  The original Constitution of India was Q2 R« &I HeTwu wfder gT
handwritten by BRI ¥ forar war o)
(A) Rafi Ahmed Kidwai (A) Y@ rEHe et
(B) Kailash Nath Katju (B) dellel 1Y ey,
(C) Prem Behari Narain Raizada (C) UA 9483 ARG RTaT
(D) Kanaiyalal Meneklal Munshi (D) Foardld ATforHerTel §2
http://www.jobriya.com
Q3  Where was Mahatma Gandhi travelling to Q3 <9 HEET Y Bl EG RISV ERS|
in South Africa when he was thrown out IART AT T SR AWiwT 7 Bl o
of the train? T o
(A) Pretoria (B) Johannesburg (A) faciRan (B) hEmHa
(C) Cape Town (D) Durban (C) ®ues+ (D) S¥&4
Q4  Which of the following folk dance forms Q4 fy=fafad # & T &1 ®IF A1 YHR
is associated with Assam? I o e 87
(A) Nautanki (B) Kathakali (A) FiEaH (B) ®erdell
(C) Bihu (D) Garba (C) fag (D) TRET
Q5  All bank accounts opened under the Q5 AIorT & d8d @rel T JHl
were to have an overdraft & @l ¥ 5,000 U ARSI D
facility 0f 5,000 . gfaer & 78 21
(A) Pradhan Mantri Mudra Yojana (A) UETHHAT &1 ST
(B) Swarnabharat Yojana (B) TW@UMRT Al
(C) Pradhan Mantri Jan Dhan Yojana (C) WeHHAT S & AIoH1
(D) Atal Pension Yojana OECGREEEISE
Q6  The Maurya Empire was established in Q6 A o @Y wenusr w # gg off o
Magadha, which is in present day called ELEISE| T AF A ST ST
' gl
(A) WestBangal (A) ufRem g
(B) Punjab (B) TSia
(C) Bihar (C) fagr
(D) Andhra Pradesh OEICEES
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India is a NOT a member of which of the

following organisations?

(A) Association of Southeast Asian
Nations

(B) Commonwealth of Nations

(C) G20

(D) South Asian Associatioh for Regional
Cooperation

The women’s team of which country won
the 2018 Carrom World Cup held in South
Korea?

(A) Japan (B) Wd
(B) India (C) &
(C) China (D) g ¥rod ARG
(D) United States of America  http://www jobriya.com
| What is India’s rank in the Ease of Doing Q9 faed ¥& &t ST Wewial {adid 2018
Business 2018 index by the World Bank? B G F ART BT I DA G 27
(A) 50th (B) 150th (A) 50 df (B) 150 df
(C) 200th (D) 100th (C) 200 df (D) 100 @f
The administrative headquaters of the Q10 S e HUF H R Jf et ®
NDA was named the Block, in giere™ @ T ¥ TISIT & eTI®
honour of the sacrifices of Indian soldiers HEITT B &itep, =T feam
in the East African Campaign. 2l
(A) Kenya (B) Tanzania (A) @1 (B) ot
(C) Sudan (D) Uganda (C) st (D) gmust
Who is the first Indian woman cricketer Q11  T20 faxisia fohdbe | 51 <l # 103 ¥
to hit a century in T20 International cricket I aTel usell WRE AR i &A1
by scoring 103 runs in 51 balls? (A) afsIfer wmTag
(A) Anjali Bhagwat (B) TG BR
(B) Harmanpreet Kaur (C) ¥ g Sifot
(C) AnjuBobby George (D) 3T
(D) Anuradha Biswal
Which of the following organs is capable Q12 fferfaa # q BIF A1 I UG A
of removing unused or damaged platelets? gt RAT] B ger H e 87
(A) Thyroid (B) Pancreas (A) 3ag 31 (B) IERE
(C) Spleen (D) Bone marrow (C) foreen (D) afRer Asalr
JOBRIYA.COM
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8 87
(A)Wﬁq@@év@mw
(B) eyt

(C) Sit—20

(D) =féror of¥rns e |ednT e

forer 1 & AfRem EW 71 févor difRkar A
2018 ¥ WU~ T3 HeH fazg Py Sfiel?
(A) SITarE
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Q13 Thealloy Rose gold contains which other Q13 fiis Ui T[og |14 # | B 3rcTar 3
metal besides gold? BT U wiAe 8?
(A) Platinum (B) Silver (A) @fesw (B) dfdY
(C) Chromium (D) Copper (C) wiffs (D)
Q14 The monomer caprolactam is polymerised Ql4 AFPR DuciaeH &1 fd dga® Hl Ui
to obtain which polymer? e & oIy ageliepv fhar s 87
(A) Teflon (B) Nylon 6 (A) YA (B) Trrit 6
(C) Bakelite (D) Kevlar (C) ddelge (D) Haer
Q15 The dimensions of the physical quantity Q15 wfw &t e w=m @ fam
of power are ; g1
(A) M'L?T? (B) M'LT? (A) M'L?T? (B) M'LT?
(C) M'L*T? (D) M'L’T? (C) M'L’T? (D) M'L'T?
Q16 CaSO,2H,0 is the chemical formula of ~ QI6 CaSO,.2H,0 &I RS
‘ A B
(A) Epsomsalt (B) Gypsum (A) TEH e (B) foremw
(C) Brimstone (D) Quartz (C) TiETrd (D) dardd
Q17 The Madan Mohan Malaviya University Q17 w5 Aig= Araary drenfia fawafdena
of Technology is located in # Reyd 21
(A) Gorakhpur  (B) Hastinapur (A) TREYR (B) sR&=TR
(C) Azamgarh (D) Mau (C) IMSTTE (D) 5%
Q18 The emblem of Uttar Pradesh Police QI8 IR yew Yferd & forg A i ¥ SIFae
features which animal? CaRCEB:{d
(A) Fish (B) Eagle (A) moelt (B) oS
(C) Peacock (D) Rhinoceros o (C) "R~ (D) fver
http://www_jobriya.com
Q19 Uttar Pradesh contributes QI9 TIR YW b |l H et &1
seats to the Lok Sabha. AT e 7 |
(A) 60 (B) 70 (A) 60 (B) 70
(C) 80 - (D) 90 (C) 80 - (D) 90
Q20 The Magh Mela commences on the day Q20 HTE HeAT @ 7 % 81 B
of (A) AER shifar
(A) Makar Sankranti (B) a¥a gafl
(B) Vasant Panchami (C) =T Rraxifx
(C) Maha Shivaratri (D) 3ierg g
(D) Akshaya Tritiya
5751620
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Q21

Q22

Q23

Q24

Q25

Q26

Q27
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The poet saint Kabir was born and raised
in which city?
(A) Kanpur

(C) Varanasi

(B) Mathura
(D) Ayodhya

The foundation of the Lutknow Gharana
was laid by Ustad ‘

(A) Bade Ghulam Ali Khan

(B) Bakshu Khan

(C) Bismillah Khan

(D) Amjad Ali Khan

The Offical Flag of Uttar Pradesh Police
has two colours, red and

(A) Green

(B) Blue

(C) Yellow

(D) Orange

The poem, ‘Chhaap Tilak Sab Chheeni’ by
Amir Khusro is in which language?

(A) Bhojpuri

(B) Khariboli

(C) BrajBhasha

(D) Urdu

Swami Rambhadracharya was honoured
with the in the year 2015.
(A) Bharat Ratna

(B) Padam Shri

(C) Padma Bhushan
(D) Padma Vibhushan

Which of the following taxes ( a state tax)
was subsumed in GST?

(A) Octroi (B) Wealth tax

(C) Incometax (D) Stamp duty

World Health Day is celebrated on which
day?

(A) 17thJanuary (B) 7th April

(C) 1stAugust (D) 21st September
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Q22

Q23

Q25

Q26

Q27

Hfd Fd HdN BT o9 MR grer= gyor
oy wree o gam o

(A) BITER (B) wYT
(C) TR (D) 3R

TGS TWH B Al IS
FICURSCURIER TN

(A) TS T el WA
(B) dr]

(C) faRween @™

(D) araTe 2Fell @

IR yew gferd & feRE e # &l
T BT B, AT 3R I

(A) B

(B) e

(C) dar

(D) AR

IR WYERT g7 R faan, e fadd
ag B foe A d 87

(A) *orgd

(B) wHErel

(C) sorTsT

(D) 99,

af 2015 Hw@rfl v A1 9@
et e rar o |

(A) RT T

(B) us1sit

(C) st o

(D) U7 fegmor

Showdl o frefafag 4 fda =
(Rr5 HR) BT A fhar T o?
(A) gl (B) wufcd v
(C) I (D) W Yeh

faea wren feaw &9 @9 w=mam S
27

(A) 17 ST
(©) 1 3

(B) 7 a3miic
(D) 21 Ridsr
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Q28 The ‘Neon Lamp’ was invented by .
(A) Georges Claude
(B) Samuel Colt
(C) Martin Cooper
(D) William Cullen

Q29 is an image that represents
a person online most often within forums
and social networks.

(A) Abio (B) Aselfie
(C) An avatar (D) Amask

Q30 The Indira Point on the Andaman and
Nicobar Islands is closest to which of the
following countries?

(A) Bangladesh  (B) Malaysia
(C) Andonesia (D) Nepal

Q28 ‘fYel oivy’ & anfdshi g faar
T[T e |
(A) ST TS
(B) HH3fel Plee
(C) T Fux

Q29 _  U& U ®wfd ¥ O U BRH

Q30 maﬂvﬁfﬁﬁaﬂﬁWWﬁQﬁ

jobriya.com

Q31 Buenos Aires is the capital of which
country?
(A) Bolivia
(C) Argentina

(B) Venezuela
(D) Brazil

Q32 The most number of one-horned
rhinoceroses are found in the
national park.

(A) JimCorbett (B) Ranthambore
(C) Kaziranga (D) Bandipur

Q33 Imphagl is the capital of which Indian state?
(A) Manipur (B) Tripura
(C) Nagaland (D) Sikkim

Q34 Which of the following cities in India is
the farthest from the Tropic of Cancer?
(A) Gandhinagar (B) Ranchi
(C) Agartala (D) Bhubaneswar

Q35 The ‘Hornbill Festival® is celebrated in
which of the following states?
(A) Nagaland (B) West Bengal
(C) Sikkim (D) Bihar

SERIES-B

(A) drrenee ' (B) #elf3r
(C) seMfRrn (D) TaTet

Q31 =g« g f&w <% Y e 87
(A) aiferfa (B) o
(C) il (D) gfed

Q32 I S | wad iftd U
AT el 31 g o B
(A) fm wide (B) IoRMR
(C) I (D) TR

Q33 =@R(el fobe WA YT &Y I 87

(A) HfOTgR (B) Frgar
(C) ANTivS (D) Ffdnd

Q34 wra # F=faRed § & & @1 TR
T AT § I T 87

(A) TR (B) =t
(C) 3Frce (D) HaTER

Q35 ‘gifae #ewa’ 1 i 9 fvw sy A
AT ST 87?
(A) TS (B) uf¥a §ret
(C) fHfdre (D) fasrR
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Q36 On formation, the Azad Hind Fauj went Q36 fHAfor & ywag e v wivT ardel
into action against the British Indian Army RAE A @ faeg &
in the sector. SIS B TET oY |
(A) Baluchistan (A) deIferens
(B) Siachen (B) Rynfas
(C) Sikkim (C) fufdan
(D) Imphal-Kohima (D) STRTA—dHIfEHT
Which animal is worshipped in the Pola Q37 #HBRTE & Uil AR ¥ fby WHar &)
festival of Maharashtra? oIl &1 STl 87
(A) Lion (B) Bull (A) g (B) 9w
(C) Elephant (D) Snake (C) &= (D) ¥
The Indian Constitution givesthe Q38 R &I GlAgH RA & FeTagare #i
the right to appoint the Attorney General e & after & <@l
of India. g
(A) Primer Minister (A) 9ETFTH=
(B) President (B) wrgafer
(C) ChiefJustice (C) T e
(D) Rajya Sabha (D) 0 | T

http://www.jobriya.com
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NUMERICAL ABILITY
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Q39

Q40

Q41

Q42

Q43

Q44

(A) 62
(C) 254

Find the difference between the largest
5- digit number and the smallest 4-digit
number.

(A) 99,899
(C) 98,999

(B) 99,989
(D) 89,999

Free notebooks were distributed equally
among the childern of a class. The number
of notebooks each child got was 1/8th of
the number of children. Had the number
of children been half, each child would
have got 16 notebooks. How many
notebooks were distributed in total?

(B) 126
(D) 512

X gets on an elevator at the |1th floor of
a building and rides up at the rate of 57
floors per minute. At the same time, Y gets
on an elevator at the 51st floor of the same
building and rides down at the rate of 63
floors per minute. If they continue
travelling at these rates, then at which floor
will their paths cross?

(A) 29 (B) 30

(C) 31 (D) 32

X has a balance of ¥100.82 in the bank
account. How many chocolates ofT5 each
can he buy with his bank blance after a
deposit of ¥74.35 and a withdrawal of
750.177
(A) 23
(C) 25

(B) 24
(D) 26

What is the least number which when
divided by 12, 20 and 24 leaves in each
case a remainder of 8?

(A) 118 (B) 128

(C) 168 (D) 208

If (2x + 3) : (5x + 4) is the triplicate ratio
of 3:4, find the square of x.
(A) 100 (B) 121
(C) 144 (D) 169

SERIES-B

Q39

Q40

jobriya.com

Q41

Q42

Q43

Q44

A T 5 b} B WA IR FIH B
4 3T B T B § Bl AR ST B |
(A) 99,899 (B) 99,989
(C) 98,999 (D) 89.999

fidt wem & g=dt & dra yuwd Aegs
THM WY | 9IS TV | YAE gz B el
Aegd & G gedl B A b1 o1/8
oAt afe geell & Hedr amd B ar
A% el Bl 16 Alcgd Aot | Ge

el Aregs aid) T2
(A) 62 (B) 126
(C) 254 (D) 512

X, 39RT & d/d 11 d w6 w foge 3
ST & 3R 57 #i7e ufd e @ v 9
HIR S & | S 9, Y 9 gERd B
5141 wiforer R foroe # War ® 3R 63
Afore ufar firte @ T 9 < Savar 2|
afe 7 g9 il § s eEn ol v
g, ot forer ATl ur Sea! ferve us R
@ gR gAY
(A) 29

(©) 31

(B) 30
(D) 32

X @ U §b @i d 2100.82 @7 99 2,
¥74.35 SAT @¥H 3R T50.17 Paprer &
q1e 98 31U § 9o @ g1 25 @ fobad
idhele WIE Fhel 87

(A) 23 (B) 24

(C) 25 (D) 26

g8 Bl ¥ BIET ¥ a1 O 8 Wl 12,
20 AR 24 g fawfoa 59 o W)
U®E T2 H 9Y 8 B ggar 87

(A) 118 (B) 128

(C) 168 (D) 208

afe (2x+3):(5x +4),3:4 &1 A T
U &, T x BT O ST By

(A) 100 (B) 121

(C) 144 (D) 169
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Q45

Q46

Q47

Q48
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Q49

Q50

A student scores 85% in an examination.
The scores were 79, 81, 88 and 94 in 4
subjects. Find the student’s score in the

5th subject.
(A) 83 (B) 84
(C) 85 (D) 86

Some articles were was marked 25%
above their cost price. One of such articles
was sold at 20% profit on the marked price
and the other one was sold at 10% loss
on the marked price. Find the overall
percentage profit.
(A) 27.75%

(C) 29.75%

(B) 28.25%
(D) 31.25%

After applying 2 successive discounts of
30% and 10%, an article was sold for
%945. Find the cost pricg of the article.
(A) 1,350 (B) 1,500

(C) 21,600 (D) %1750

The simple interest is T1 less than the
compound interest on a certain principal
for-a period of 2 years at 10% interest.
Find the principal.
(A) T100
(C) T95

(B) X110 .

:Find the difference between the compound
and simple interest on a principal of ¥
2,000 for 3 years at an annual interest rate
of 10%.
(A) 60
(C) To4

(B) %62
(D) %66

Three partners, X, Y and Z, shared profits.
If the total profit was ¥3,000, X’s share
being ¥400 less than Z’s and Y’s share
being 3200 less than Z’s, find the profit
sharing ratioof X : Y : Z.

(A) 2:3:4 (B) 3:4:5
(C) 4:5:6 (D) 5:6:7

SERIES-B
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Q45

Q46

Q47

Q48

(D) 290 jObriya.com

Q49

Q50

Uh T ¥ U B 7 85% 3 UId
f&d | ar Rval § S b HA 79,
81, 88 3llX 94 21| gad fawy ¥ fdfa
IUP B S DN |
(A) 83
(C) 85

(B) 84
(D) 86 .

T TR DI ITD AN T W 25%
SHux 3ifdd e T o | 39 ovE @
TR H ¥ UH BI 3Afbd Fod W 20%
ST TIeh) 99T 71T IR (S R a%g
3fhd eu W 10% @ BN A 94
w|&\ﬁ§ﬁ?ﬁﬁﬁ§lﬁﬁl
(A) 27.75% (B) 28.25%
(C) 29.75% (D) 31.25%

30% 3R 10% & a1 BT Be o &
qre, U avg 3945 H 9 M | A D)
AR e ST |

(A) 31,350 (B) %1,500

(C) 31,600 (D) %1,750

10% &ITol W1 2 94 & af® & forg va
fAf¥ea e W AR &S whgiE
ol W T FH 2| oAU S Y |
(A) T100 (B) 2110

(C) %95 (D) 90

10% aiffe @meer w3 a9 @ for
22,000 & HAUH W TpgfE & 3k
HRIRYT &S & 4 &1 3R ST Dy |
(A) T60 (B) %62
(C) 264 (D) %66

9 WEER X, YIIR Z 9 am A
far) afs a & 23,000 2, X &
o Z @) i 9 2400 9 B AR Y&
fRwn Z. & o # 200 @9 8,
X:Y:Z P A \IET A &l U
B I
(A) 2:3:4
(Cy 42526

(B) 3:4:5
(D)5:6:7
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A family consists of two parents and three
children. If the average age of the parents
is 36 years and that of the children is 10
years. Find the average age (in years) of
the family.
(A) 20
(C) 20.8

(B) 20.4
(D) 21

18 articles were sold at an average price
of T15. The cost price of 12 articles was
%16 each. Find the cost price of each of
the remaining 6 articles if there was no
profit/loss in the transaction.

(A) 12 (B) %125

(C) 713 (D) %135

A can complete a task in 8 days while B
can complete it in 12 days. In how many
days can C complete the task if all 3 of
them together can complete it in 3 days?
(A) 8 (B) 10
©) 12 (D) 14

A man on a tour travels the first 120 km at
60 km/h and the next 120 km at 80 km/h.
What is the average speed of the journey?
(A) 70 km/h (B) 68.57 km/h
(C) 71.11km/h (D) 69.23 km/h

The ratio of speeds of two cars of 10:11.
If the first car travels a distance of 500
kms in 10 hours, what is the speed of the
second car? 2

(A) 44km/h (B) 55km/h

(C) 66 km/h (D) 77 km/h

A sphere of radius 9 cm is moulded to form
a cylinder of radius 3 cm. Find the height
of the cylinder.
(A) 54cm
(C) 162cm

(B) 108 cm
(D) 216 cm

Find the product of the sum of digits of
the smallest 4-digit number divisible by 6
and the sum of digits of the smallest
5-digit number divisible by 11.

(A) 4 (B) 5

©) 6 (D) 7
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Q54

Q55

Q56

e gRar # Arer-fiar ok &9 T €
afe A o aivma 36 ¥ 3R
gl @l 3T 3P 10 99 §, A1 IRaR
1 3T g (@¥ #) s @ |

(A) 20 (B) 20.4
(C) 20.8 (D) 21
18 Ty T 15 @Y i @d ov 9l 7 |

(=)}

12 IE3T B AN B Ui awg T
| ¥y 6 gRR H ¥ UAD F AN
TR AT B, A g AT B

iy
<r /&1 =78l g3 81|
(A) Z12 (B) %12.5
(C) %13 (D) %13.5

A, 8 oAt # U dm B Fpar B, afd
B39 12 faA1 3 @1 ¢ Waar £ 1 C 9%
HM e o=t # g o) " B, afe @
AT feder a8 &m 3 3+ § oo ax
| 87
(A) 8

(©) 12

(B) 10
(D) 14

IATAT YR AT TP IATEH ugat 120 km, 60
km/h @t TIfy & 3R 3T 120 km, 80
km/h @ fd & G99 @ear 2 g B
ailraa fy @ &7
(A) 70 km/h

(C) 71.11 km/h

(B) 68.57km/h
(D) 69.23 km/h

31 BRI B T FT U 10011 ¥ | Ay
ugell ®R 10 HeT ¥ 500 km & g 79

FRAl 8, A1 gE9 SR o TRy Fr 2?
(A) 44 km/h (B) 55km/h
(C) 66 km/h (D) 77 km/h

9 cm f3rar g ve Mo 3em B
1l Ryciex & wu § <rer o & | Rieisy
P HATg ST BN |

(A) 54cm (B) 108 cm
(C) 162 cm (D) 216 cm
6 | faifora |a<t BIEY 4 3fpl arel G
B AP o AT IR 11 A g wea
BICI 5 3{epl aTell TRAT B AT Bl
T PN | '
(A) 4 (B) 5
€) 6 (D) 7
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Q58

Q59

Q60

Q61

Q62

Q63
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MENTAL ABILITY

Which of the following series is built on
the same logic as :

D.C.AX,T

(A) HLG FED,A (B) O,N,L,J,F
(C) S,Q.N,K,H (D) W,V,T,Q, M

Fill the missing value in this series :
IBDF, H3JL,NP3R,?

(A) SVX7 (B) SVY9
(C) TVX7 (D) TVY9

Which pair in the options will complete
the following series:

S, TR.U: .,
(A) bW (B) O, W
(OR A D) Q. Vv

"
From his house, X went 15 km to the
north. Then he turned east and covered
10 km. Then he turned south and covered
5 km. Finally turning to the west, he
covered 10 km. In which direction is he
now, with respect to his house?
(A) North (B) East
(C) West

After walking 4 km, X turned to the right
and then walked 3 km. A fter that he turned
to the left and walked 5 km. In the end, he
was moving towards the north. From

whiclrdirection did he start the journey?
(A) North (B) East
(C) West (D) South

A left home and cycled 10 km towards
north, then turned right and cycled 5 km
and then again turned right and cycled 10
km. After this he turned left and cycled 10
km. How many kilometers and in which
direction will he have to cycle to reach his
home straight?

(A) 10 km east
(C) 5 km east

(B) 15 km west
(D) 5 km west

SERIES-B
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Q58

Q59

Q60

Q61

(D) South jobriya.com

Q62

Q63

Ry MY el # & B @ s@er @
@ =1 gfagen & 9@ @ amE 2?

D, CAXT

(A) H,G F,D,A (B) O,N,L,J.F
(©) S,Q.N,K.H (D) W, V,T,Q, M

9 el § 9 7§ Y
I1BDF, H3JL, NP5R, ?

(A) SVX7 (B) SVY9

(C) TVX7 (D) TVY9

faeat # i g FrafoRaa sjiwer
DI R M

S,TRU _,

(A) bW (B) O, w

(C) PV (D) Q,V

HTT BR A X Sk Rem F 15 km g
fr a8 gd @ i gz mar alw amr
10 km rar| fbw @8 gfior & iR g
AT 3R 3T 5 km AT | 3 F uf¥em @)
3R e §Y, a8 AT 10 km 7147 | 39 I8
I BR & wHed # fhe fawm § 82
(A) SR (B) @

(C) uf¥=m (D) =féyor

4 km AT B 918, X SR 3R T W
3R I 3 km IAT| SGD 418 TE AIE
3R HeI 3MX AR 5 km gl | 3 &, a8
I B AR a9 7T o1 | I6 g o

AT g DI?
(A) SR (B) ud
(C) uf¥=m (D) <féyor

AR ¥ FHage 10 km SR I 3R
T, fR =IfEs geaw 5 km Tar iR f
cIfes 48R 10 km TAT| 99S 1 8
a1¢ g 10 km 12T | WY R ggH B
forv o1 fpw feem o fbas fareiiiex
AT BAIT?

(A) 10kmyd  (B) 15 km uf¥em
(C) Skmyd (D) 5 km gf¥gH
SET-02



codsed

Q64

Q65

Q66
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At 9 pm, the hour hand faces north, Which
direction will the minute hand face at 6.30
am?

(A) North
(C) “West

(B) East
(D) South

Given below is a statement, followed by
two conclusions, I and II. You have to
consider the statement to be true even if it
seems to be at variance from commonly
known facts. You have to decide which of
the given conclusions, if any, follow(s)
from the given statements.

Statement 1: Quality has a price tag. India
is allocating lots of funds to education.

Q64

Q65

jobriya.com

Conclusion I: Quality of education in India
would improve soon.

Conclusion II: Funding alone can enhance
quality of education.

(A) “Only conclusion I follows

(B) Only conclusion II follows

(C) Both I and II follow

(D) Neither [ nor II follows

Given below is a statement, followed by
two arguments, | and 2. You have to
consider the statement to be true even if it
seems to be at variance from commonly
known facts. You have to decide which of
the given arguments, if any, support(s) the
given statements.

Statement : Should lotteries operated by
the state be stopped?

Arguments 1: No, government will lose
revenue.

Arguments 2: Yes, government should
NOT promote gambling.

(A) Only arguments 1 is strong

(B) Only arguments 2 is strong

(C) Both arguments 1 and 2 are strong
(D) Neither arguments 1 nor 2 is strong

SERIES-B
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Q66

A b 9 Ul TS BT BT I Al 3R
BT B | a5 & 6:30 g9 e BT Bier
fba feem & st gmre

(A) ST (B) gd
(C) uf¥=m (D) =féror
Y3 #H Ueh o 3R SHS 919 <7 e,

13RIy Ty &1 amve) 560 dor @
A HFAT BN, Wel € 98 M dR IR
ST Tl ¥ 31T weld &I &) 3Mep!
g 9 3 8 b fou v st 8§ 9
DA/ frepd, afe #1g & Ry v
P BT AN dRAT /Bl &/ § |

HUT 1: @1 qoF BldT & | ARd
forem & ferv aga wrd My sndfea o
ET & |

foreepd 1 W 3 R @t o seg €
ER S |

ferep 11 : vl farer ot fRrear oY wporaen
4 gfg X war B

(A) Bac =py [ AT Bl 8
(B) @hdel hY [ 3I¥R0T Bl &
(C) 18R 11 ST AIFERYT I &

(D) F @1 13R T & 11 3Ew0r dvar &

U § UF $Y IR SHP 418 31 dd, |
IR 2y v & 3nudT 39 B @I
I HAFAT BII, Wl & I8 3 dR W
AT 2l A el T Yl BIAT 87 3T
Ig g AT & b Ry v i § 9
D /¥ T, T BIE B, foT 77 ot
& T dRAT /R B/ B

DU : FT 9T gRT FaIferd died &l
qg DT TIfRe?

Td 1: T8, WWHR Pl Aovd U T8
BT |

& 2 : B, ARBR BT QU Bl gg7aT TE
T =R | -

(A) &9 T 1 A9gd ¥

(B) @del T 2 Hiqd @

(C) <% 13k 2 TH Aorga &

(D) ¥ dl a1 3R 7 & a5 2 7oy @
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Q67  Given below are two statements, followed

/

by three conclusions, I, II and III. You
have to consider the statement to be true
even if they to be at variance from
commonly known facts. You have to
decide which of the given conclusions, if
any, support(s) the given statements.

Statement 1: All the books written by X
are textbooks,

Statement 2 : Some of his books are
published by ABC Publishing Company.

Conclusion I: ABC Publishing Company
publishes textbooks only.

Conclusion II: Some textbooks written by
X are published by publishers other than
ABC Publishing Company.

Conclusion I11: ABC Publishing Company
publishes some critical theories written by
X.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Only conclusion III follows -

(D) None of the 3 conclusions follow

Q68 Which of the following words has its

Q69

Q70

letters in alphabetical order?
(A) Believe (B) Cease
(C) Beefy (D) Aerious

Which of the words CANNOT be formed
by the letters of the word
“NIGHTINGALE™?

(A) Light (B) Thing

(C) Angle (D) Eagle

Select the option that is related to the third
word in the same way as the second word
is related to the first word.

Dozen : Twelve :: Score : ?

(A) Twenty (B) Fifty

(C) Twentyfive (D) Ten

SERIES-B
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Q67 Y% ¥ S T 3R IS a8 A e,

Q68

jobriya.com

Q69

Q70

L 13RI &g g & | snus) g9 weet
I F AT 81T, el B g8 o iR
W AT dedl | e udi 8ar &
YT T8 7T BT & fob e v Freepst
i B/ ey, afy P & Ru
G &RFT BT IATHRVT BT/ B & /8 |

FAT 12 X gRT foredl € Wt qrad
GIYRTD & |

DT 20 Il {B Y&Idh ABC Ul
ST GRT USHIRT & 1 &)

frepe 10 ABC yaRM &l Baw
UIGTYRID] BT THIRRT Bl & |

B 11 X g foredt 1w wreagwast

B ABC ufeaf¥ir &ut & orermar e
YT ERT U fopar e 2
fAspd 111 : ABC ufeaf¥inT &u+ht X gry
forer 77 B wecayel Rigiar & g
DR B |

(A) ®aa e | argaror avar @
(B) @acl frspy [1 3FwRYT @ &
(C) @aet s 11 Irgaver v &
(D) T # | B o argaver 78 v

fA=fearRRaa sl o @ v wreg @ 3R

JUST quiHIeT HAFER &7
(A) Believe (B) Cease
(C) Beefy (D) Aerious
“NIGHTINGALE” w2 & 1Rl g
B I WG P [ 8l b a1 wHar
&7
(A) Light (B) Thing
(C) Angle (D) Eagle
I faFey &1 g+ a8 o IRN v
JE UPR 9 HEdd 2 R yer
GERT 96 UEel Wew W HefId ® |
O : gRE = TR ?
(A) 99 (B) TN
(C) v= (D) Tq
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Each one of the following options consists
of pairs of words. Choose the best pair to
match with the pair in the question.
Contractor : Building

(A) Cow : Stable

(B) Lawyer : Books

(C) Potter : Paint

(D) Cobbler : Shoe

Q71 Q71

Select the alternative that is related to the
third term in the same way as the second
term is related to the first term.
AB:DH: DE:?
(A) PU

() QT

Q72 Q72

(B) PT
(D) QU
Q73 Select the alternative that is related to the
third term in the same way as the second
term is related to the first term.

MAGIC : NCJMH :: WITCH : ?

(A) XKWGM (B) XKXGN

(C) YKWGN (D) YKWGM
. jobriya.com

Q74

Q73

Q74 Find the missing number:
11, 14, 19, 26, 35,7

(A) 44 (B) 46
(C) 48 (D) 50
Q75 Find the missing number (X and Y) in the
segies andafnddhgealue of Y-X :

10.30. 20, X, 50, 150, Y

(A) 70 (B) 80
(C) 90 (D) 100

Q75

Q76 Find the pair of the numbers that would
fit into the pattern :
1528,1725,1922,2119,7

(A) 23 17 ~ (B) 24 16

(C) 23 16 (D) 24 17

Q76

SERIES-B

frrforRaa el 3 9 y® F vt M
Sifedt & 2 B e A G S Al B
g ¥ PR B AU wew el A
T |

SHER @ SAN

(A) T : 3R<IEA

(B) gaid - faramd

(C) |BR : T

(D)HSI??[:GLGT

9 e BT =T B Sl AN ug |
Sl ovE Wdfd @ o avE g ue
Ugel Ug 9 Hefdd B

AB:DH: DE:?
(A) PU
() QT

(B) PT
(D) QU

39 faded &1 799 B Sl deR ue 9
I v et 8 ford ove gEnT ug
TEd U% 9 Hafed 2| |
MAGIC : NCIJMH :: WITCH : ?

(A) XKWGM  (B) XKXGN
() YKXWGN (D) YKWGM

T T F/ DY
11,14, 19, 26, 35,2
(A) 44 (B) 46
(C) 48 (D) 50

el # T WAy (X 3R Y) A
&Y BN Y-X BT J4, S Y |
10.30.20. X. 50, 150, Y
(A) 70 (B) 80
(C) 90 (D) 100

&R @ 98 Sirel S &N, Sl 34
Yer A Sgge B o
1528,1725,1922,21 19,2

(A) 23 17 ~ (B) 24 16

(C) 23 16 (D) 24 17
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Q77

Q78

Q79

Q80

Q81

Q82

-_—
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Mental Aptitude, IQ & Reasoning Ability

A series is given, with one term missing.
Choose the correct alternative from the
ziven ones that will complete the series.
DFE, HJI, LNM, PRQ, ?

(A) TUV (B) UVT

(C) vuUT (D) TVU

A series is given, with one term missing.
Choose the correct alternative from the
given ones that will complete the series.
WWWWWWM, WWWWWMM,
WWWWMMM, WWWMMMM,
WWMMMMM,
(A) MMMMMMM
(B) WMMMMMM
(©) WMMMMMW
(b) MMMMMWW

A series is given, with one number missing.
Choose the correct alternative from the
given ones that will complete the series.
-4.5,-3.1,-1.7,-0.3, ?

(A) 1.3 (B) 0.9

(C) 1.1 (D) 1.5

Ifthe 3rd day of a month is Monday, which
of the following would be the 4th day
before the 21st day of that month?

(A) Monday (B) Tuesday

(C) Sunday (D) Wednesday

A series is given, with one term missing.
Choose the correct alternative from the
given ones that will complete the series.
Y9Q0, U6P1, R4R1, P302, ?
(A) P2S3 (B) 0383
(C) O3R2 (D) P2R2

Inacode language 319 means “ice is cold’,
431 means “winter is cold’, 249 means ‘ice
in winter’. Find the code for ‘in’.

(A) 9 (B) 4

)1 (D) 2

SERIES-B

| jobriya.com

Q77 & g A # U e qw &1 Ry
Nil|

Q78

Q79

Q80

™
faedi # @ Sfud fawey gfg o ol
BI U7 Il BT |
DFE, HJI, LNM, PRQ, ?
(A) TUV (B) UVT

(C) VUT (D) TVU

& g Aol A ve we g g Ry e
Rt # & Sfr Rider gy o sl
® gl vl 8| ‘,
WWWWWWM, WWWWWMM,
WWWWMMM, WWWMMMM,
WWMMMMM,

(A) MMMMMMM

(B) WMMMMMM

(C) WMMMMMW

(D) MMMMMWW

& g A F v e ga ¥ Ry 1y
faweal 3 ¥ sfaa fawew gl o 2o
@1 gof dear &)

-4.5,-3.1,-1.7,-0.3, 7

(A) 1.3 (B) 0.9

(©) 1.1 (D) 1.5

afe fosll 7em &1 T fRs JaR g,
o =falRaa & & o ar g s
Her B 21 d 9 @ ugal @1 dren a9
BIIT?

(A) IHIR
(C) Iqar

(B) TR &
(D) EEEIN

@80 T Aot 4 7 2, Rt v e gaRRer

Q82

2| Ry U Rvet § @ w Rwe
STl S eI IR WP |

Y9QO0, U6PI, R4R1, P302, ?

(A) P283 (B) O3S3

(C) O3R2 (D) P2R2

fardt @e et # 319 @1 g @ e i
S . s
cold’, 431 &7 312 & ‘winteris cold’, 294
&1 31 & ‘ice in winter’. ‘in’ @ foTg @
0T BN |
(A) 9
©) 1

(B) 4
(D) 2
SET-02
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Q84

Q85

Q86

Q87
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In a certain code, PLUS is written as 6275 Q83
and ATOM is written as 4813. How is
PALM written in that code?
(A) 6423 (B) 8817
(C) 3548 (D) 5708
If in a certain code language, ‘ -+ represents Q84
‘’, ‘- represents ‘“+’, “x * represents ‘ +’
and * -’ represents ‘-’. Find the answer to
the following question.
442-9%3 + 6=7
(A) 5 (B) 29
() 7 (D) 17
If NAUGHTY is coded as MZFTSGB, Q85
then how will LIE be coded as?
(A) AEI (B) INR
(C) SWA (p) ORy  jobriya.com
IfA @ B means A is the son of B,A# B Q86
means A is the brother of B and A * B
means A is the mother of B, then what does
P @/Q* R#S mean?
(A) P is the brother of S
(B) P is the sister of S
(C) P is the father of S
(D) P is the son of S
If P % Q means P is the brother of Q; P ! Q87
Q means P is the father Q and P * Q means
Pis th_c son of Q, which of the following
shows that P is the brother of S?
(A) P*Q!R%S(B) P!IQ*R%S
C)P*Q%R!S(MD) P'Q%R*S
A said to B, “You are my wife’s Q88

son-in-law’s daughter.” How is B related
to A?

(A)B is the granddaughter of A

(B) B is the grandmother of A

(C) B is the mother of A

(D) B is the daughter of A

SERIES-B

17

e fady g #, PLUS &1 6275 feran
ST & 3R ATOM &1 4813 foran Smar
2139 @ § PALM &9 forar smea?
(A) 6423 (B) 8817
(C) 3548 (D) 5708

fopell fadhy g wrar & <+, < @l U
Co0 BT IR bl & AR L7, @
gegd exal v | o Ao e @
T T N |

4+2-9x3 + 6=?
(A) 5 (B) 29
) 7 (D) 17

gfd NAUGHTY &I MZFTSGB UH &g
9 fdron ST 8 A1 LIEST 39 &g 94
GRS
(A) AEI
(C) SWA

(B) JNR

(D) ORV

afe A@B @ 3t & {5 A, BHI U7 &,
A#Badr el & fF A, B @1 9IE © @i
afeA*BaT el 8 f6 A, Ba \i g dl
P@Q*R#S I & 3f 87

(A) P, ST 4TS B

(B) S 98 ©

(C) P, S i 2

(D) P,S®T g3 &

P%Qar el 8 fh PLQa s 8, P1Q
&7 3ef & fb P, Q@1 fiam & @i
P*Qawr af 2 f6 Q@ g B
fr=feifaa & @ Far qufar & 6 P, S @
g &7

(A)P*Q!R%S(B) P!Q*R%S
(C) P*Q%R!S(D) P'Q%R*S

A B @@l “gd W) Ul & e Bl
937 811" B, A ¥ fhu avg defer &7
(A) B,A @I Uil &

(B) B, A & Q&I YA ©

(C) B_ADI A B

(D) B,A®! QA &
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In the following figure, the square
represents painters, the triangle represents
men, the circle represents accountants and
the rectangle represents Americans. Which

" set of letters represents Americans who are

NOT men?
K
E
(A) CDE (B) AIGD
(C) JBKC (D) HIGF

Q90 Which of the following Venn diagrams best

Q91

represents the relationship between fathers,
women and doctors?

JOBRIYA.COM

Q89

Q90

(A) CDE (B) AIGD
(C) IBKC (D) HIGF

frafaRaa 3 ¥ @ |1 97 aR foari,
ARl v Sfaexi @ 4 & ddu o
Iy 3T qUar 27

(A) @ (B) C%)>

o D
© @ () jobrlya.com(c) @( ) %

The line graph shows the number of
passports issued by the Passport Office in
the last 6 years. In how many years was
the number of passports issued more than
those issued in the previous years?

800

700
600 0
65!
500
pres 5(\/\
00 400
200 350
200
} T T T T T 1
1 2 ] 4 5 ]

Number of passports
Issued

Year

(A) 2 (B) 4
©) 1 (D) 3

SERIES-B
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fi?
B
® Se] 530 % ’
E 3 350 “
'é o 200
(A) 2 (B) 4
) 1 (D) 3
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Q92 9R 3IRW 6 < BT SI-IEEIT T fea@rar

Q92 The bar graph shows the population

density of 6 countries. Population density
is measured as number of people living in
per square kilometre. What is the ratio of
the population density of country A to
country F?

Population Den

A B

& | SRt e I ufa @i fdarmieR
# T8 arel A @ I @ ®9 H AT
AT 2| T AW U F P TE&T g9
BT AU FT &7

Population Dens

éount?y Country
(A) 3:1 (B) 1:5 (A) 31l (B) 1:5
©) 5:1 (D) 1:3 ©) 5:1 (D) 1:3
Q93 Pie chart (1) shows investments in lakh Q93 UE ae (1) el =aw™ # IR WrfieRi
rupees by four partners in a certain &R fag ¢ e &1 o w3 R
business. R UE A’ (2) U AEIeR gRT A9
Pic Chart (2) shows number of hours & fow fve o st el @ e 3
worked for the business by each partner. fem 21
The business earned a profit of 324 lakh. 39 BRIAR F 24 G BT o A
Half of this profit is to be distributed fopar | g @ & amen R fdwet @
between the 4 partners in proportion of U # 4 wrfERT & dra faaRa fear
investment and the rest in proportion of ST & 3R gt 3T d fehu v Her
number of hours worked. How much will D AT H| D& fFaar wra som?
D get? (In lakh rupees . ! TG WU H)
Sk e jobriya.con
Chart 1 Chart 2 e 1 a1 2
25% 25% :
(A) 4.44 (B) 3.66 (L) A (B) 3.66
.(C) 4 (D) 4.8 (C) 4 (D) 4.8
Q94 Which word does NOT match with the ~ @4 P17 = ﬁ W I R Y e 87
others? (A) (B) e'q_\i
(A) Pencil (B) Paper © ™ (D) HIM
(C) Pen (D) Crayon
Q95 Find the odd letters cluster from the given Qo5 fa q famedt # % faww R ¥ I
options. (A) ECA (B) QOM
(A) ECA (B) QOM (©) GIK (D) VTR
(C) GIK (D) VTR
SERIES-B 19 SET-02
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Q96 Choose the figure which is different from
the rest.

(A)

(B)

OCOO0

Q97 Choose the figure which is different from

the rest.
v MQ O F |
(A)EHY(B) M HE
F W I VWY
FHE HMYV
©|VOY| p |YEF
MW I Wilo

Q98 Select the option that is related to the third
word on the same basis as the second word
is related to the first word.

Lemon : Sour :: Ice-cream : ?
(A) Cold
(C) Vanilla (D) Milk

Q99 Select the option that is related to the third
number on the same basis as the second
number is related to the first number.
3125:0.00032::32:7?

(A) 0.003125 (B) 0.3125
(C) 0.03125 (D) 0.0003125

SERIES-B

(B) Sweet jobriya.com (A) Ger

Q96 Y TP BT T Sl qTehl AT 3

AT B |
Q00 O -0 -
' E 0.+ 0
K1Y Y@ oy
i 0.0
[ ) OO0
I 00O
c)i 00

Q97 ¥ AP DI g+ O dradl Pl

AT B |
vV MQ O F |
(A)EHY(B)MHE
F W I VWY
FHE HMYV
(C)VOY(D)YEF
: MW I wilo

Q98 Y fahed &1 Tg= B T AR Ieg 3
I UHR | Hafd & o geR | 3R
3G Uge e O HafSd g |
g, wer = g 7

(B) #reT

(C) afsen (D) gu

Q99 99 fIFey &1 T H O AN

| 39 9BR ¥ Hlda & e ghR 3
T T Ugell WA ¥ Al B |
3125:0.00032::32: 7

(A) 0.003125 (B) 03125

(C) 0.03125 (D) 0.0003125

SET-02
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Q100 From the given answer figures, select the
one in which the question figure is hidden/

embedded.

(A)

©

(B)

(D)

Q101 Which answer figure will complete the
pattern in the question figure?

(A)

(B)

©

(D)

SERIES-B

jobriya.com

Q100 & 7 IR AHEAT H H, TH T BT
=g B o o ampfa ke &

A) | (B)

©) (D)

Q101 BN ¥ IwR MPfT Ue Impfa H A
T e B g1 e

(A)

(B)

©)

(D)

SET-02
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Q102 Which of the following answer figure
patterns can be combined to make the
question figure?

—
[ l ]

w THPRE

» BBE R
©) %m 4 |

O
E 1
. (D) L jobriya.com

[ 1]

]

Q103 Which of the following cubes in the

% answer figure CANNOT be made on the
Ex S basis of the unfolded cube in the question
i. figure?
= -
H|0IO]
A s
(A) ® S| *
=
/‘ -

Read the following information and
answer the given questions (Q104 to
Q106)

Following are the conditions for allotment
of housing plots to a family at the time of
allotment.
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Q102

Q103

fr=fefaa # @ @9 @ Sar i
e @1 ye gl a9 & o e
ST el 7

—
[ ] ]

» THF

» BBEHE
(©) ﬂ— 4 ]E

(D) |

H

ﬁ
]

)
En

I P ¥ b w1 Bl g% Irpfad
Hhel U U9 @ AR W ol T T
Hepell &7

-
4|00
e o
(A) (B) * .
©) . O (D) [l

frerforRaa ser & U &l Ry 0
(Q104 ¥ Q106) Tl & TR |

Jrded @ gag e 9RaR &I amal
yEe B des B e frafafa @
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A) The family should have atleast 4
members and only one married couple in
it.

B) The combined monthly family income
should NOT be more than 325,000 per
month.

C) Nomember of the family should have
a criminal case against him/her.

D) Nomember of the family should have
benefitted from any other subsidy scheme.
E) Nomember of the family should own
any residential property.

However, in case a family who fulfills all
other criteria EXCEPT.

1) B above, and if the combined income
includes pension, then the pension amount
is deductible.

2) C above, and if the member has been
released from imprisonment, then the case
is referred to Central Police Station

3) E above, and if living in the same rented
property for more than 7 years, then it will
be treated as owned residential property.

Based on these criteria and information
provided below, decide the course of
action in each case. You are NOT to
assume anything.

Q104 Family A consists of a father, a mother, a

grandfather and two children. 3 years ago,
the father was imprisoned for 2 years for
rioting. The father earns 320,000 per
month and the grandfather earns ¥7,000
per month pension. None of the other
members earn. The family has not received
any subsidy nor do they own a residential
property, and they have been living in a
rented house for last 5 years.

(A) Allot plot

(B) Reject plot

(C) Refer to Central Police station

(D) Data inadequate

SERIES-B
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Q104

A) URAR ¥ BH W @9 TN 9w BN
=fey o | dad e fagifRa er
BFT AI2T |

B) uRar &t Hif¥e wga amr 225,000
gfer w8 W arferes w181 B0 Afgu |
C) URaR & el ) wew & Raanw
RIS AT 8 811 =Ry |

D) 9RaR & fHf f Hew &
T ST &1 @y 7 fierar &

E) uRaR & fHel ff e & am w
®TF AR wufed =1 &)

BTG, 3R BIg TRAR 59 BISHT 3T
T HIFEST Pl YT BT B

1) BRI, 3i¥ afe w@ga amr # dam
et 8, 1 9o Ol e ang R
2) CIWIT, 3R afe b gew sRar
9 Rer garm 81, a1 arren Fia giem
TYH B € & |

3) E 9WIad, 3R afe 9 fmrl & v
H 7 99 9 31ftrp wag qa w8 @ £
3 Wiy @ smania wufa AmT
ST |

SR AFGs! 3R N QY 10 Sy
& IR W QS THel § drRIaR) &1
fofg <1 ama &5 o e sim ¥ A
TEI Hahd |

IRaR A% fiar, \ian, e ok 81 9=
213 a¥ ygdl fOar @7 S0 4 2 | A
oiet g8 | faem ufmE 220,000 warer &
3R q1aT ol ufimg 37,000 &) Y e
2| RaR & 37 fpel) wew & +E
I T8 21 IRAR B I B g
TE et ok S 7 € W & i
@1 DI Wufed & 9o 9 Rod 5 af 3
S BY W R @ vw w E

(A) s smafed fdar Sy

(B) @s v fdhar oy

(C) Igd gfera RIH &Y Wo Iy
(D) 3ifes arqafe &
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105 Family B consists of the grandfather, his

Q106

Q107

wife, his son, his daughter-in-law and his
grandson. No members earn a living. The
family survives on grandfather’s 230,000
per month pension. The family has no
members who have a criminal case, they
donot own a residential property and they
have not received any other subsidy. They
are living in a rented house since
grandfather’s marriage 30 years ago.
(A) Allot plot

(B) Reject plot

(C) Refer to Central Police station

(D) Data inadequate

Family C has a total monthly income of
¥26,000 which includes a pension of
3,000 earned by the widowed
grandmother. The married couple has one
3-year-old son. The family has no
members who have a criminal case, they
do not own a residential property and they
have not received any other subsidy. They
are living in a rented house for the past 6
years.

(A) Allot plot

(B) Reject plot

(C) Refer to Central Police station,

(D) Data inadequate

Which of the following answer figure
patterns can complete the series given in

the question figure?

9P

) |® ®)

B&

©) (D) ®

m e
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Q105 YRaw B # wrar, 9 v, S 5

3N IDT gg, I IThT A & | uRaR
B B3 W TS HACN T8 ¥ GRAR
STaT @) 9famTE 30,600 &1 U9 < gorar
g1 9Rar & fedl i wewr @ Raae
DS MG HHer 181 B, 9 8) IS
T AT FUfed B =i 998 o1 g 31
ge A 781 e | vy & uv 4 30 o
¥ ¥E W € o reT @ urd) g8 o |
(A) s amafed far wmg

(B) s & fasar sy

(C) wger gfera weM &F 997 v
(D) sifee avaig &

Q106 gRar C & o ARI® 3y 226,000 &

o fawan a1t &) e arelt 23,000
@ T A wnfre ) endiger WS @
U 3 auig g f 7| aRar & fRq R
e & Raars angwfde amern a8 &
9 8 3@ 9N Iariy gufeg & qer
g% 317 dIE BT N 78 e | ¥ fiwa
6 ATdl ¥ fhedl & ov § w8 W &
(A) ‘e amafed faar sy

(B) @s ¥ faan vy

(C) Asel gfers e &1 951 e

(D) 3iFHs 3rufe @
Q107 FriferRac 7 1 B W I Ml
et ge amepfar 3 & TE siern ) g
HN HHAT 27
w @ B) P
= M
® ®
C D
©) o (D) 0
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Q108 Which of the following answer figure Q108 fFr=iferRad # & &= W S My @

patterns can complete the series given in ded g GTIT'% LRI AT el o
the question figure? IR el 87
" o‘ H ol
0AQl 0AQl
O D O D
@) | ® |- @) P ® |-
FAY A A A
D 2y D A
(o o O © [© o O
FAl O A @)

Q109 What is the minimum number of lines Q109 € 7 ®fd gam & forv =gAam fdHai

required to make the given image? @R @ S 87
2 jobriya.com
2
(A) 12 (B) 13 (A) 12 (B) 13
(C) 14 (D) 15 (C) 14 (D) 15
Q110 Ifa mirror is placed on the line MN, then Q110 If Ta gdor oI Y@ MN U I@T 4T &,
which of the answer figures is the correct Al B b I P TS g Bt
image of the given figure? e ofa 2?7
ZO K 8
K B R K
(A) (B)
e = w| e x
i X 1K
©) (D) 51620
X i ©) < i (D) o
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QI11 A piece of paper is folded and punched
as shown below in the question figures.
From the given answer figures, indicate
how it will appear when opened.

,. )é,-ﬂ'ﬁ}; X
Bt b
Dv\-/vq M
VRPN N

Q112 Arrange the following words as per their
order in an English dictionary and choose
the one that comes first.
pocket; podium; plutonic; poacher

(A) plutonic (B) pocket
(C) podium (D) poacher

Q113 A series is given, with one word missing,.
Choose the correct alternative from the
given ones that will complete the series.
Random, Omelette, Telephone, Nectar, ?
(A) Omega (B) Artery
(C) Allergy (D) Lunatic

www.jobriya.com
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Q111 1 ey e Safey & R o= |
ThS Bl Blog AR vy fhar war & -
TS IR Ipirl @, g N fr g

el I Y A8 B fwars <
ﬂ Bull:
DA P
“» Plarld® b
D D‘%DC
D O
(C (D)
"hand @

Q112 F=fafe ot & sl st 4
HATER ¥ 3R 99 W @ g o
IR YES ST |
pocket; podium; plutonic; poacher
(A) plutonic (B) pocket
(C) podium (D) poacher

QU3 < A Aot # us wreg ofw 2| Ry Wy
feredi ¥ & S Rwer gfie o s

a1 gof Hwar &

Random, Omelette, Telephone, Nectar, ?
(A) Omega (B) Artery

(C) Allergy (D) Lunatic
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HINDI
Q114 fr=ferRaa wea ¥, ax fawen Ry 7y & Q119 Fr=faiad ue #, agg & GeeT &
o 9 S99 Recy &1 aa9 & o IR G IHBT g garsd |
91eg / qTR] &1 [a 30T Tdh ¥’ fddey 3 91 <@aR feEy forar |
&1 91 9 N Refa § eren 7 o W@ (A) jped fobar
(A) I (B) d (B) gdeifera
(C) wifard (D) arsiias (C) g

(D) wga famar
Q115 f=ferRad wes #, ar e few v

A, - T Q120 fr=ferRad ue &, @R fdey fev v &,

. o & 99 fadweu &1 o9 ¥ o) f{u
:;;zﬁami%iwwa?rgﬁl Y Teg P AEl ENAT TR 2 |
(A) wf (B) 3maTer sl
(A) EHEREdl  (B) yeudH
(©) D) M jobriya.com ©) TS (D) e
Q116 frferRaa wed #, ar faweal 4 9, QI21 A Ry MY ¥ 1 WE g HU
3Rl e @ favfa geenfR | qrall fawen ygaifg |
(A) ¥, % (B) 9 aar
(©) & R (D) # w (A) - (B) =
(C)/ﬁ’cﬂ(‘:ﬁ (D)il?ﬂ

G117 FreorRae wer , = et 4 2
| I W fAded & 9 H Sl adrdm 8 Q122 < Ry Ty ¥ &7 WEl WgaEd WU

fan ard1 faeey ugafg |
I W1 JHATad FIAH BT NG TE 8 | g,
(A) 5= g (B) Wz oY (A) TG (B) =il
- (C) wfesm gy (D) S gy - (© wgH (D) Y
Q118 Frfefad we #, ar faweut ¥ 9, {23 ¥ e @orT W9 W wfeqd @oE |
S 9 fwe &1 999 B Sl gaar @ 'Ei_%aawmg““ &7
f5— (A) gFRR  (B) fa
e yeTet 3 Y% BN antl—anil I © () W
& Q124 B T Fo ARBT gRT I=RA B
(A) \HI= e (B) ,m, ~ YeIdTe %.‘-‘? ‘
(©) argeh et (D) ot g 4w ®) @
© s (D) &
51629
. q
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Q125 =1 arerr fagmer &) faver araven 1 2 -
T el peA Bl
(A) IcRTa=RIT (B) Hefrax=ar
(C) Swrawen (D) aifSierewen

Q126 gadiiary ol gRT IRId uflig AeTha
T A T B?
(A) WrHTfEDT
(ijﬁaﬁﬁﬂ
4C) HERTGE
(D) TE9ER

'levm'mmmmﬁa

ITN 87
(A) e - (B) sReier urarg
(C) iR 9rAY (D) fawy =i

Q128 39 & @ W RiaR YW Ol @
ufig YT 27
(A) aRwer (B) ~reut
£C) BRI (D) 3M1#HeE

Q129 2017 &1 Wit arbredl YebR fod
oad @ faar T
(A) YaEve A
(quﬁwaﬁaﬁa
C) YHrHE e
(D) ¥gen T

9= Ry Ty T & 9 (QI130 |
Q134) Ay 7y & | 39 e v @Y eAFYdd
¢ ok IR fawedl # & vdd UH &
waraw STR g |

AR B Al | WAl H g
f <& S YE T | AT WAl BT YA
U e defe B | fod it wwa A

SERIES-B

&

arfira gfea W ot I srEgdieer
q ug wfea &) @ & @l &
ITRIARY 5 &g d@ s &1 waar
2 iR 7' foram w8 o @1 e g
gIeTifes, Uge W 81 fohhe # Ut o WA
W R dfb agiee A 3w W &l
3refeaven &1 U favar R & & gaar
TR T4 AHT T g1 XRT | U AT
% e R § Wl AT BT DR
S BUIR N8 HUY A Th UgH
T & | Wl 3 Sd BT BT ERIT B
forar 81 98 eaR fem-ufafed @ ofias
BT I P & | 9NTR A Wl Bl T
T ST § adie o e ® 5 s
RSO TR SRR IS o ¢ |
g o Ram 9 o s Reaal @
& A7 8 | fhdie & 3relar o R < ar
uRa # 9 3 el § U4l &1 < d 981
21 2008 GRS # wRO=T afeifi® o W
g e a far i Qi &) ol U
3o Jriader & AR YHSIBR & 39
TR A U@ I L B S el © |
TEEIA, 3@ Bleld U4 &1 70 B fb W
W IRR e ofl 8| 59 @ H foer
B N Hog T8 8 A fb @i =
U TENT BT WY o forr 81 98vEd,
39 IR @ 9T siafis & ave §=
UTE | 3 dled ol & W
1896 | & @ 2 | g9d 1Al Nefi®
P g8 USIDl H il diar Ff off, o
1928 ¥ AT & AT G §¢ o | 7
qRE I RN A MANSTD] &) Y
e 866 faferam Sielk A% ugd g
2l
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Q130 Wi 3 g frad ate # o g ©?

(A) HHSHIDPRT (B) THISHEROT
(C) eawriael (D) Jed

Q131 W & sreferaven $ ggrar fhed far?
(A) e Sa (B) anEdied
(C) Fred BTN (D) S&RT

Q132 IR & Wl TR BINATel WHIT BT 3R
3R fra fewrd @ w8 87
(A) afaraven  (B) Sawd
(C) 3™ i (D) Ted W

Q133 & wfawuerieli F1 fdd duic W IR
&l e 87
(A) TgRIEd wuft
(B) s Hufral
(C) " FSiIaA
(D) it St W

Q134 faftrT wrdtorent 1 farerepl wgar e

¥ o B3N 87
(A) FArSTD! (B) STel
(C) S &t (D) TPR @

0135 FrafaRad we &, ar el 4 9, 390
|E RAdea &1 @ a1 [y T Igy
@ ST STeidR WU BT FaH Wl fdhed
2|
aqﬁaawae—aﬂmawagm
(A) SR DR
(B) TH® DR
(C) Y BN
(D) ST PR
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Q136 fr=feiaa we # @R fadwedl # @, 99
A& e & T B9 T Nifdhd wTeal
&1 e 3T BT IS B
el femR ant 8l <&
(A) fora fagmor sy
(B) == 9IS Ty
(C) T A Y
(D) forwanfeaters g

Q137 Fr=ifeRad ue #, ar fawedt 4 @, 59
W8 ey B 9u= o o IYE AN b
g B BT HIH DT ey 7 |
3 A B ER TR0
(A) M AT & 'Y Wl
(B) 3IM0 A B ST
(C) 3 = A @ B OIFT ©

jobriya.com (D) 3 Y & R S

Q138 TS BE ¥ fha I B 87
(A) IR (B) ¥
(C) e (D) &9

Q139 F=ferfaa we A, @R fApoul. ¥ ¥, 99
fred @l T B il fay T geTmR &
wE) a3ref qrer fiwed B |
RIESIECH
(A) R gadt
©) ot afdm

(B) ok &
(D) 3RY T

Q140 T8 &7 Tl e €T & AT S &7

&) | (B) &
©) g (D) 3
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QI141 fr=ferRed we # aR Rwedt 3§ 1 9y

el fadey &1 77 ¥ o Prdeger
a1 gRac arar 981 fasey ¥

B F el @ | (Beare)

(A) Bl @ @ &

Q146 Fr=feifea wea #, = Rwed § §, g

fadey &1 a7 BN W oy @ T8 a
2l

(A) arferar (B) TPl

(C) wifergmrs (D) e

(B) &It Bt @1 foran

(C) &Rl §RT T @rIT 1T Q147 Frfeaa w1 % o Reey iy o

(D) BRIt Selr @ R @ v v Ry 10 e @7
T5d B9 B |
Q142 9 W 54 g &1 aref & amey wwer? PIL
(A) (B) ; (A) &R (B) 7ifa
©) | D) ! () wew (D)

Q143 Frferfem wee %, A faedl 4 4 v Q48 Freferfaa oem 3, TR Rt 4 9, Ry

TN U & HE WE ardl fI@ey Y 31 @ AU a1ef are fRiwe gfg |
I | eIy
YT (A) T (B) Rear

1 . (A) <5 & a7+ s (C) BisT (D) He

A 2 (B) 9T & & forer

4 S (0 w2 st R Q149 Freifdiferm st 3, = Rt % 9, o
(D) T8 & 9 forra fapey &1 o ¥ o v WR-Reg

qreT fAweT g |
Q144 f=faRaT wew # ar Rwent § ¥, 99 i
fddey &1 7w o Ru v e A g+sf  (B) u+ sfa
el WA aref qrer wreg 2 | ©) g+ fom (D) 9 + 3faw
e jobriya.com
(A) <erar (B) *re Q150 FrferRas weer &, =R fwodi § ¥ 39
(C) SaregT (D) =gl fawey @1 T &Y O vl eR-fwe
arer faded & |
Q145 f=ifaried we &, aR et 4 9 o e

faen @1 T N W 9 Reer 3| (A) eRA+3TET  (B) e4-are
IFPI AR A Iynf (C) A+ (D) eRmT+am
(A) o1 (B) &
(C) a1 (D) oI
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